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OFUAXIME NESSH 8 Z2 -
5,000,000 *37H 2= 15,000
OO0tz OIS XX 2SXIZ A
2,000,000 *30IH £ 60,000
OFeXXIME Sd3t Z2 18X
12,500,000 12,500
& 3,750
= 8,750
FOIMEMHI A X 17,414,421 14,780,314 2,634,107
= 7,167,19%6
= 2,759,5%
7l 67,000
S 2,011,640
o 5,408,989
HoPl==AAHI A 5,305,127 4,805,347 499,780
= 1,071,737
= 2,397,918
[ 497,128
T 1,338,344
ZOHQ F=ERIHZ ALY 41,800 41,800 0
= 20,900
s 6.270
s 14,630
402 2I2F X201 & 41,800 41,800 0
= 20,900
= 6,270
o 14,630
03 2IZ+LAEAIZ I 41,800 41,800 0




SM: QpEY
3 FUHSMEIAAA XS
elr ROoP==KIAHIA (CHo M)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFONel Z=HNEAL(11017)
3,800,000 1100 £ 41,800
= 20,900
[ 6,270
T 14,630
Fob Lol =) &8 e 44,000 44,000 0
307 elztol & 44,000 44,000
05 212t S 44,000 44,000
OFlor Lol Z0i 82 e
4,000,000& 117} 44,000
ADIEE(ZE2QA!) T0igt ohyAH| XIR 14,000 14,000 0
301 LEtE NS 14,000 14,000
02 ANRI2HHSFS(HAAS, NLHE) 14,000 14,000
OADIE(Z2214!) Toe ey EHl X
700,000 200t 14,000
DA O & 2eIHAH 2= 15,000 0 15,000
= 7,500
== 4,500
[Ea 3,000
201 2= 6,090 0 6,090
= 3,045
=S 1,827
s 1,218
01 AtR2t2|HI 6,090 0 6,090
ODNSA O Al 22 HE L 2
795,000 <22 1,590
= 795
= 477
2 318
ODNEA 918017 JIEYE 22 72
2,250,000& *22] 4,500
= 2,250
=S 1,350
s 900
301 2eEN= 8,910 0 8,910
= 4,455
=S 2,673
s 1,782
01 Al EE AL S(FREXM) 8,910 0 8,910
OL=AL Ol AOIE=E22 1 €% K& 8,910
—OSA 0 AESSSe ] sS4l
2,750 x1500t A+ 120 2 4,950
= 2,475
== 1,485




SM: QpEY
Hm: FOIMEAHIAGH X2
elr ROoP==KIAHIA (CHo M)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 9%0
—DEA K ANESEEA] J1DI7Y
99,0002 *40CH 3,960
= 1,980
= 1,188
o 792
RIS ESSMEIA ALY 2,904,940 2,810,180 94,760
[ 2,033,450
= 259,660
o 611,830
307 @12to| & 2,904,940 2,810,180 94,760
[ 2,033,450
= 259,660
o 611,830
1 AMEISXAEEXS 2,904,940 2,810,180 94,760
OLoldESSMHIA Q1241 (142E)
1,371,695,000& 200 2 2,743,390
[ 1,920,370
= 245,130
= 577,890
OLoldESESMUIA ArZHI(20H )
80,775,000 201 2 161,550
[ 113,080
= 14,530
[Ea 33,940
LoIESESMUIA SAR NI~ 115,200 115,200
307 @I2to1 & 115,200 115,200
11 AMISXAIEEX 115,200 115,200
OLolgtssEMHIA 8ol NSH| X2
(XHA 80,0003 x120& «12& 115,200
SHEO Fe SSAMMAHA 2SN 502,936 438,708 64,228
s 251,468
== 75,440
o 176,028
307 212+01& 502,936 438,708 64,228
= 251,468
= 75,440
o 176,028
1 AMISXAIEEX 502,936 438,708 64,228
OSHEC! el SSHMAMAMHIA S5
2|2 QIAHI(7H) 215,692,000 215,692
[ 107,846
= 32,354
o 75,492




SM: QpEY
Hm: FOIMEAHIAGH X2
elr ROoP==KIAHIA (CHo M)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSAHL-Ql H0jel SSAMAIAIA =g
]l 287,244,000 287,244
= 143,622
[ 43,086
T 100,536
SN e SSAHYAEIA SAL X 6.720 4,200 2,520
307 elztol & 6.720 4,200 2,520
11 AMEISXAIEEES 6,720 4,200 2,520
OSTOEOAIKHIA 28012 DEY| X2
(XEA1) 80,0002 x7& 122 6,720
HEAXZ0IE Ssa HREAIIII AFY 28,800 28,800 0
== 8,640
o 20,160
201 2= 28,800 28,800 0
< 8,640
= 20,160
01 At2t2ltl 28,800 28,800 0
Oz XZ0IE =S4 2 a1|)|
28,800,000& 28,800
= 8,640
Ea 20,160
o EsXE=0H XA 1,397,029 1,211,829 185,200
= 977,920
= 125,733
[Ea 293,376
308 AXIHS0IA 1,397,029 1,211,829 185,200
= 977,920
== 125,733
= 293,376
18 SIS0t & AAS At 1,397,029 1,211,829 185,200
QTN SSX S0(449)
1,397,029,000& 1,397,029
= 977,920
S 125,733
= 293,376
ST 2SEX JHZ0 31,147 14,480 16,667
= 21,803
< 2,803
s 6.541
308 XXM SO0IH 31,147 14,480 16,667
= 21,803
== 2,803
[Ea 6,541
13 S [2S0He 4 A AS A 31,147 14,480 16,667




2A:
PSR
ool

42 1t
42 A HIASH XIS
==AAEIA

SA - ZE - B2(30) - HRAS of v e HIDE2
OSZZ BsEx JHZ0i(2Y)
31,147,000& 31,147
= 21,803
[ 2,803
T 6,541
LETHEMEIA HIRH X 62,305 60,000 2,305
= 43,614
[ 5,607
Ea 13,084
308 XXM SOIA 62,305 60,000 2,305
= 43,614
s 5,607
s 13,084
13 SI[2SOHE & EAS A 62,305 60,000 2,305
OLEHEMEIA(5H) 62,305,000 62,305
= 43,614
= 5,607
o 13,084
JARZHE &2 K3 A 47,500 47,500 0
[ 38,000
= 2,850
o 6,650
308 XM SOIE 47,500 47,500 0
[ 38,000
= 2,850
o 6,650
18 SIS0t HAS A 47,500 47,500 0
OJtAlZHE &2 T3 AR (132)
47,500,000 47,500
[ 38,000
= 2,850
= 6.650
LaESMEIA XZAE 93,750 0 93,750
[ 75,000
= 5,625
= 13,125
308 AXIMSOIA 93,750 0 93,750
= 75,000
< 5,625
= 13,125
18 SIS0t 4 A A A 93,7850 0 93,7850
OgassAtblA XZA
93,750,000& 93,750
= 75,000




SM: QpEY
Hm: FOIMEAHIAGH X2
o2l Zot=E=XIAMEIA (CHo M)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 5,625
= 13,125
SEAdlA 610,082 682,529 NT2,447
s 361,678
= 28,453
= 219,951
SIA=XRASt 29 23,571 52,768 AN29,197
201 Let2| 21,271 51,568 A30,297
01 Ar2eltl 10,531 40,692 230,161
OXE=3 2 FU AMRES 7
200,000& *53] 1,000
OAE=EE 27 =8 B 7
295,000 *5CH 1,475
OXEz== g2 =M 222 MHX
5,000& x6005 3,000
OXEs== g2 =& sE==2 W&
88,0003 13|+ 1204 1,056
OoUE=EE T = E2=4]
8,0002 x5H %100 4,000
02 324l 10,740 9,876 864
OXE== R E HEE 23
40,0003 +21CH+12& 10,080
OAE=E d8 Hate3a
50,000 12& 600
Oasss(22) SHH 323
5,000+ 128 60
202 04d| 2,300 1,200 1,100
01 =WOdbI 2,300 1,200 1,100
OXsz== =& ¢yl 2,300,000& 2,300
SeAtd 22| E XtEke] 7,508 55,882 A48,374
201 L2 | 7,508 5,882 1,626
02 33=24H| 7,508 5,882 1,626
OSEAtel2elE xr2t2](30815284) 4,358
—SEXE USIHAl 43,5202 % 1CH 44
—SEBUE SEFUH(FLS )
1,730 101+ 12& *1502| & 3,114
—3EXE IS
100,0002 x1CH* 12 *13] 1,200
OSZAEIE SEAMHZEIE ItSF2| (5822
366) 3,150
—S2XE NSIHAl 150,000 *1CH 150
—SEXNY RFU(HI] X&)
150,000 *1CH+ 122 1,800
—3EXE ZHIRXd]
100,000 x1CH* 13| 12 1,200
S Atd2tel X& 15,000 15,000 0




SA Y
Hm: FOIMEAHIANH X2
el SEAEIA (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 7,500
=S 2,250
s 5,250
201 fer=3| 15,000 15,000 0
[ 7,500
= 2,250
Ea 5,250
01 At 22|l 15,000 15,000 0
OAtell2tel g 22|
1,363,600 * 11004 15,000
[ 7,500
= 2,250
Ea 5,250
SEAtel2t2lA 1248 X 173,640 169,380 4,260
[ 86,820
= 8,682
[Ea 78,138
101 @124H| 167,880 165,380 2,500
[ 83,940
= 8,39%4
= 75,546
03 SR (RINAHA) 222+ 71,600 40,000 31,600
OSEAHIZ2IAL 1241 (2
71,600,000& 71,600
= 35,800
< 3,580
s 32,220
MU IIRINZZENSES 96,280 125,380 229,100
OSEAHIZ2IAL 21241 (3
96,280,000 96,280
[ 48,140
= 4,814
= 43,326
M A=FLSS 5,760 4,000 1,760
[ 2,880
= 288
= 2,592
04 SR (RIHA)22N BE=RES S 5,760 4,000 1,760
OSeAtdiZel AHSRA) J[2ReS 28
= 5,760,000& 5,760
= 2,880
& 288
= 2,592
SEAt2t2IAL X2 (S &E#HBI0IM 2¢) 2,400 2,400 0




SM: QpEY
Hm: FOIMEAHIANH X2
ol SEAEIA (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
iy 1,200
= 1,200
101 2124 d| 2,400 2,400 0
= 1,200
= 1,200
03 SR (RIHL) 22X 2,400 2,400 0
OSEAZA NS (BEATHHIOIN 2
) 200,000 x 18+ 12& 2,400
= 1,200
= 1,200
SH=s ¥5E SEFMHIA X2 108,519 109,719 A1,200
iy 75,963
T 3,256
[ 29,300
201 B2 AY| 54,260 55,460 A1,200
= 37,982
& 1,628
= 14,650
01 At=R2teld| 54,260 55,460 A1,200
OSH=E SEAHIA 298|
4,932, 7002 x 110 2 54,260
= 37,982
& 1,628
= 14,650
301 LPENF 54,259 54,259 0
= 37,981
& 1,628
= 14,650
01 AISIBE XS (2 RETME) 54,259 54,259 0
OSHs SEAHIA X3
4,932,600 * 110 2 54,259
= 37,981
& 1,628
= 14,650
CEAERE 237,744 235,680 2,064
= 190,195
& 14,265
= 33,284
101 2124 d| 99,864 109,400 A9,536
= 79,891
= 5,992
= 13,981
03 BRA(RIAHL) 22X B 99,864 109,400 29,536




SN oIRHE
MM ZOIMEAHAY X
CHol: SEHAHIA (el @e)

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OCEIAEIE OlSEEAIZ2IAl 21 218I(3
) 99,864,000& 99,864
= 79,891
[ 5,992
T 13,981
201 Ler23| 47,300 36,160 11,140
= 37,840
[ 2,838
Ea 6,622
01 At2t2ltl 23,600 17,800 5,800
OOtSSEAtIZteIA WFH|
400,000 +3H 1,200
= 960
S 72
[Ea 168
OSHARE AMRESE(HIS) 22
3,000,000& %12 3,000
= 2,400
< 180
T 420
OLEAEEMY gitd & BIEEXAL X
pals] 2,000,000& %12 2,000
= 1,600
= 120
s 280
OLEAEE 822 Ma & 7Y
2,500,000& *23] 5,000
[ 4,000
S 300
= 700
OLEAERE Mat =e|8 |RA € 2¢el
100,000& * 122 1,200
[ 960
= 72
= 168
OEHAEE MY 23]
500,000& * 128 6,000
[ 4,800
= 360
o 840
OO0tSSE At 2teIA E28A8I
8,000 38 »50! 1,200
[ 960
= 72
Ea 168




SA Y
Hm: FOIMEAHIANH X2
ol SEAEIA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=2g9da & oS82 82Xl 8§ 2
g 1,000,000 *23] 2,000
= 1,600
< 120
T 280
OXNSAAZ AL et Al EE2 & WS
29 500,000 <22 1,000
= 800
< 60
s 140
OUE #IHEIN =3b]
1,000,000& %12 1,000
[ 800
== 60
= 140
02 S3=4gl 1,700 4,200 2,500
OEEALE RERS 500,000& 12 500
[ 400
= 30
= 70
OLEEAERE X =X
100,000 * 122 1,200
[ 960
= 72
= 168
03 A= I 22,000 14,160 7,840
OCEAHE Z2O (MM, AZ) 29
850,000& *102] 8,500
[ 6.800
= 510
Ea 1,190
OCEAHE Z2OH(EA, 8s) 29
2,500,000& *22] 5,000
[ 4,000
= 300
Ea 700
OEZAERE Z2O#OIENRY) 29
850,000& *102] 8,500
= 6,800
= 510
o 1,190
202 04| 9,020 6,520 2,500
= 7,216
= 541
o 1,263




SM: QpEY
. = = A 2
§§?_”, %Zji?”jiu"m' P! —
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 9,020 6,520 2,500
OOtSSeSAtdIZCIAL 2208 2SN
HI(3") 4,820,000& 4,820
= 3,85
< 289
T 675
OOtSSEAtdI2eAb S 0]
200, 00024 x3% %23 1,200
2 960
= 72
= 168
OO0tSSE At 2elAt JIZ2ABIA 22| ol
1]l 500,000 x32*23] 3,000
[ 2,400
= 180
= 420
206 M=l 6,000 5,000 1,000
[ 4,800
= 360
= 840
01 MZH| 6,000 5,000 1,000
OEYHAERE wi ¥ W3 2
1,500,000 23] 3,000
= 2,400
S 180
= 420
OEEAERE Z2% 29 NS4l
20,0003 x50 2«33 3,000
[ 2,400
= 180
= 420
301 LEtE N = 48,960 56,000 A7,040
[ 39,168
= 2,938
= 6,854
01 A2 HSFS(RNEERTHE) 44,960 40,000 4,960
SYAERE Z2O(8R, A2 XM
850,000 %102 8,500
= 6,800
& 510
= 1,190
OSHARE Z2OY(IAM, SS)XHA
500,0002 %102 5,000
[ 4,000
= 300




SM: QpEY
Hm: FOIMEAHIANH X2
el SEAEIA (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 700
OSgARE Z28(0], AXNXEAIY
2,000,000& * 102 20,000
= 16,000
= 1,200
o 2,800
OSAEE Z2IBOIEXR) KB AY
3,820,000& *32 11,460
= 9,168
=S 688
s 1,604
11 AALAEIXIE S 4,000 16,000 A12,000
OCRAEIE 208 BAT 24|
4,000 x40 %102 1,600
s 1,280
= %
2 224
OSRAEE AT SAH
8,000 +60H +53] 2,400
= 1,920
== 144
[Ea 336
04 HSRESS 24,600 20,600 4,000
= 19,680
== 1,476
[Ea 3,444
M SRA(RIHY) 22N EE2RE=s S 24,600 20,600 4,000
OEEHAEE OtsSeAtd22IAL 2SS
ASTHFES(38) 850, 0008« 123 10,200
s 8,160
= 612
2 1,428
OCRIAEIE OlSSEARIZEIA ER3(3
) 400, 0002 *3H * 123 14,400
= 11,520
== 864
[Ea 2,016
307 lztol & 2,000 2,000 0
= 1,600
== 120
[Ea 280
0122 & 3=l 2,000 2,000 0
OEEAEE Ols 24 Z8|
40,0002 x50 2,000
s 1,600




SM: QpEY
Hm: FOIMEAHIANH X2
el SEAEIA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 120
s 280
CEHAEE SgAtdlztel X2 41,700 41,700
101 @12A4H| 41,700 41,700
03 SRH(RINHA) 222+ 41,700 41,700
OEEARE E2A AIZ+E
9,600,0002 9,600
OSYAEE B2 A
1,200,000& «3& »23] 7,200
OSEAEE 22 oJH2AY|
700,002 533 2,100
OCRAEE 22 A0
1,900,000 x3E *43] 22,800
2S= X KA 732,750 844,944 A112,194
= 569,000
= 76,675
o 97,075
8= XX 698,750 763,693 N\64,943
= 559,000
= 69,875
o 69,875
301 EtE N = 698,750 763,693 A64,943
= 559,000
< 69,875
s 69,875
01 A2 HSHS(RNEERTHE) 698,750 763,693 64,943
OSSR Arg(8728)
698,750,000 698,750
= 559,000
< 69,875
= 69,875
=23 29 34,000 40,000 26,000
= 6,800
Ea 27,200
307 gl2to| & 34,000 40,000 26,000
= 6,800
o 27,200
05 git?(& = 34,000 40,000 26,000
OIIRAZHB(ZEHIR2Y)
34,000,000 34,000
[ 6,800
T 27,200
KIS AL 22 2 153,631 108,971 44,660
= 7,528




SM: QpEY
Hm: FOIMEAHIAGH X2
Rl XFAR 2 H & EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 146,103
NS AR A At 54,992 5,000 49,992
201 fet=23y| 51,792 5,000 46,792
01 AtR2tc|HI 51,792 5,000 46,792
OXIG At HAE HEAM &2t
25,000 * 1002 2,500
OXIGIASISIR| §AXHE AIBZ D HOIA 2
2t 25,0002 1005 2,500
OXNE=A A 2= MH
1,000& +1,0000H 1,000
OXg =l Mg JIR=E e NE
60,0002 *30H 1,800
OSPXGAS EREAM 28 =FZY|
8,000 *11&*11J A+42] 3,872
OSRINYAB SE M 2Y4Y
50,0002 * 112 *11JH 2x43] 24,200
O34z XNIMSIEHEAM 3l2d+=&
70,0002 *2624 43| 7,280
OXAME B HE M 2t
250,000 43 1,000
OXNESA At st =8 SZ2ZAH|
8,000 x5 »66! 2,640
OXg=XAIY THagd=)12 HAHEe 24
100,000 5004 2 5,000
202 04l 3,200 3,200
01 2LHoIH 3,200 3,200
OXNE=A At =& 04|
3,200,000& 3,200
NSAtel2 oM Mg 212l K& 37,639 37,971 N332
= 7,528
o 30, 111
101 21AH| 34,639 37,971 A3,332
== 6,928
o 27,711
03 SRA(FIH )22 U2+ 34,639 0 34,639
O=48= NSA2HEoN d5ee oA
ul 34,639,000 18 34,639
= 6,928
= 27,711
M A=FESS 3,000 0 3,000
= 600
o 2,400
M SRA(RIHL) 22X BEERE=3 S 3,000 0 3,000
O=dz NGAMAEHEANM g0 2
= 3,000,000& x1H 3,000
& 600




SM: QpEY
Hm: FOIMEAHIAGH X2
chelr XIHAISI 2 & H & (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 2,400
FUFE OIS=SAAMY =8 61,000 66,000 /5,000
307 21201 & 61,000 66,000 /5,000
05 2IR”IRIE = 61,000 66,000 25,000
OFBFE NISXAHIA A8 OISSKIA
2 = 61,000
—OIESXAE =8
5,000,000 * 1190 2 55,000
—gUeH3 6,000,000& *12] 6,000
N SAL 2E 214,516 215,460 aNez7
= 33,244
= 4,030
o 177,242
A SAH 2K 116,732 119,612 /2,880
201 er=2 3| 73,792 73,792 0
01 AtR2te|HI 73,792 73,792 0
Od=X2S
50,000 * 1204 & 600
OXHESAL tEX 2L
23,0002 120 B ~28t A 552
OXASAIE &
250,000 *23] 500
OXE S At S2aatl
8,0002 x5 66! 2,640
OXHASAL 22372 XA
1,000,000 #2942 2,000
ORH S
25,0002 x1202 =23 x 1104 & 66,000
OXESAt
1,500,0002 %12 1,500
202 04l 3,000 3,000
01 2LHoIH 3,000 3,000
O S AL 3,000,000& 3,000
301 EtE N = 18,940 21,820 22,880
11 HAFBIXI 16,940 19,820 2,880
OXHE S ALA 24
10,0002 x50 *32 1,500
OXHESAHA U=l SN 2o
40,0003 x20E 23] 1,600
eEES 215t
50,0002 +502H +13] 2,500
OXHE S ALA
3,000 *100Z #5652 1,500
OZEFQAA N SAAF 4 AHI24
8,0002+008 12042 8,640




SM: QpEY
Hu: FOIMEAHIANH X2
el THESA 28 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O NASAEAS & JIG>AL B4 Xt
40,0002 *30E 12 1,200
14 DBt 2 a3 2,000 2,000 0
OXESAA SAt2S FHAIZE gkt Xl
= 2003 x200& *50A[ 2 2,000
307 212+01& 21,000 21,000
05 2ItRIE = 21,000 21,000
OMASE 2SS AL
60,0002 *350AI CH 21,000
A SAH 2CIUI0IE XI& - 4 82,000 82,000 0
= 32,468
= 49,532
101 @12A4H| 74,800 74,800 0
= 28,868
o 45,932
03 SRA(RIH )22+ 74,800 74,800 0
OXHESA 2LIUI0IH eIAd](29)
57,736,000& 57,736
2 28,868
2 28,868
OXHRIZ AL CIUIOIE 212481(28) (28120t
2) 17,064,000& 17,064
4 HASFEESS 7,200 7,200 0
= 3,600
s 3,600
M BRA(RIASL) 22N BEESRE=S S 7,200 7,200 0
ORAZA BOUIOIE BER(22)
300, 0002 2 * 122 7,200
= 3,600
s 3,600
d= S ANESMEE It MHlA X 1,552 1,628 AT6
= 776
Ea 776
307 gl2to| & 1,562 1,628 NT6
= 776
i 776
06 28= 1,552 1,628 NT6
OXHESAL &ol28 It 1,552,000& 1,552
= 776
o 776
ANASA 243 X2 13,432 11,420 2,012
= 4,030
o 9,402
201 er2 3| 5,000 5,000 0




SM: QpEY
Hu: FOIMEAHIANH X2
ol ANESAH 88 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,500
s 3,500
01 At2tltl 5,000 5,000 0
OXNSAE LS 222 & 22 728 S
5,000,000& 5,000
= 1,500
Ea 3,500
206 M=l 6,012 4,000 2,012
== 1,810
o 4,202
01 MHZHI 6.012 4,000 2,012
OsAEs Mzl X2 6,012,000& 6.012
< 1,810
s 4,202
301 EtE N = 2,420 2,420 0
= 720
Ea 1,700
11 #AIAMHIXIZ S 2,420 2,420 0
OXEsSAZdst XI& 2,420,000 2,420
=S 720
s 1,700
MBS AIM2LIHS 800 800
301 2eEN=S 800 800
11 dALEEIXIRE S 800 800
OdaZ2I MY 21E3 AL 24
10,0003 x5 +83] 400
Odesz2dMFH Ads S B 2
o 000 5 »23] 400
QIMSEEZMHIA AN DS 8,179,480 6,036,298 2,143,182
= 3,634,910
Il 67,000
< 1,295,586
= 3,181,984
AlLIOIZ2E 29 XI& 346,710 336,480 10,230
= 104,013
= 242,697
307 elztol & 346,710 336,480 10,230
= 104,013
Ea 242,697
10 Al SXAAEEHE 22X 340,230 330,000 10,230
OAILIGIZE =gl 340,230,000 340,230
=S 102,069
s 238, 161




SM: QpEY
Hu: FOIMEAHIAGH X2
CIol FDIMBRBAHIA A2sl (cre:xigl)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
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AN H&ots AEHE NS 500,000 2,000,000 1,500,000
NEMSI 2B EE A (2S) 500,000 0 500,000
401 Al HIZL 201 500,000 0 500,000
01 Al&H| 500,000 0 500,000




SM: QpEMY
= 222 0t01Jt =8t Oli=s
ol MIOIA AR QSHEDS (Shol: % 2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
OXIARS] 2451 JIBHEA AR (20232 Al
Hl) 500,000,000& 500,000
ol RYs flet d=NE 10,682,752 7,963,300 2,719,452
[ 1,200,000
T 982,752
CH 8,500,000
HEla2 d)|gxd 10,682,752 7,963,300 2,719,452
== 1,200,000
o 982,752
CH 8,500,000
SFXE A= 14,590 14,590
201 Zet=Ehl 7,290 7,290
01 Al 22| 7.290 7,290
OFEXE 22T NSEE 72
200,000& *102] 2,000
OFFNY 25N TREEYH 2
295, 0002 +63] 1,770
OBFNR P2EM S22
8,000 x4 »110! 3,520
202 048l 7,300 7,300
01 2L A b 7,300 7,300
OF=XN& gF=4 o 7,300,000& 7,300
ad otRdEetE &4 2,000,000 0 2,000,000
[ 1,200,000
CH 800,000
401 AlEHIZL SO 2,000,000 0 2,000,000
= 1,200,000
CH 800,000
01 Al&HI 2,000,000 0 2,000,000
o34 st2de= =4
2,000,000,000& *14] 2,000,000
= 1,200,000
CH 800,000
8@ REIot =4 100,000 1,000,000 A900,000
401 A2 HIRL R 0HbI 100,000 1,000,000 A900,000
01 Al&HI 100,000 981,360 881,360
OZMHE SEN0 AOIE ST 02
Bl 100,000,000 100,000
SAE B2 &4 2,100,000 5,600,000 A3,500,000
o 600,000
CH 1,500,000
401 AIEHIX R0 2,100,000 5,600,000 3,500,000
= 600,000
CH 1,500,000




SM: QpEMY
B 017 Soi2 98 BN
=?el: 2042 dFII8xy (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 2,059,100 5,586,100 A\3,527,000
OclAE B2 &4 1,473,000,000& 1,473,000
CH 1,473,000
OHAEELZ DE3IAI (20233 AFZHI)
586, 100,000 586,100
02 Zeltl 22,000 0 22,000
OclA8EzZ =4 Zeldl
22,000,000 22,000
CH 22,000
03 Al 20HYI 18,900 13,900 5,000
OHAEER =4 AIER0H|
5,000,000& 5,000
CH 5,000
O AEEHR DESHAIY A& ROHH] (2023
AbHI) 13,900,000 13,900
sE2ZFH |4 NY(sER) 2,364,200 63,300 2,300,900
= 64,200
CH 2,300,000
201 et 3| 31,200 34,800 A3,600
01 At2t2l] 22,800 27,600 24,800
OZ24KF8 FUHIHFAIE X2
300,000& x 122 3,600
O=4d7s FUHUAFAIE Ol02elE=
600,000 * 122 7,200
O=d=s HUHAHFAE SE32 223
- 1,000,000& 123 12,000
2 35244l 8,400 7,200 1,200
ORHKE HOUHFAL 2222
700,000& * 122 8,400
401 Al HIZ 2018 2,333,000 28,500 2,304,500
o 33,000
CH 2,300,000
01 A28l 2,293,000 28,500 2,264,500
O=d=s FHAAHFAE 22+
1,500,000 x220H 2= 33,000
OA=d S47s H0A HFAE =4
2,260,000,000& 2,260,000
CH 2,260,000
o2 22l 3,000 0 32,000
OMDAA DHKE HOIX HFAL T4
Zell 32,000,000 32,000
CH 32,000
03 AIESTHYI 8,000 0 8,000
OA=2 SH7s Z0A HFAE =4
AE 20 8,000,000 8,000
CH 8,000




SM: QpEMY
B 017 gol2 ols HEX|H
=?el: 2042 dFII8xy (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HNIS NALE AL (SHAHO0IE 1928) 88,462 1,300,000 1,211,538
101 @124H| 14,112 0 14,112
M ORNZZE2NSE S 14,112 0 14,112
O=dAHIOIE 1928 A JI2HH 22X 1A
]l 14,112
—Jl2=s 79,200 x1H 222U +6E 10,455
—F5=4 79,2002 x 18 *43|+6E 1,901
—Ei==g 79,2003 x1H+6E 476
—4AEE= 12,832,0002%9.97% 1,280
201 er2 3| 53,350 0 53,350
01 AtR2te|HI 26,400 0 26,400
OLYUMAN =2 400,0003* 112 4,400
O&gte2e| =2 800,000 %112 8,800
Osd)| gtd&e| =8
200,000& *112] 2,200
O=dAHIO0IE 1928 E2= S M&
3,000,000 *23] 6,000
O=8AHOIE 1928 28 =572
5,000,000 *14 5,000
2 S5=24g4l 26,950 0 26,950
O=4AHOIE 1928 B2
2,000,000&11& 22,000
O=dAHI0IE 1928 &fol+==23
100,000& * 112 1,100
O=dAHI0I& 1928 S4IR23
350,000 * 11 3,850
401 Al HIZL 201 21,000 1,300,000 A1,279,000
01 Al&H| 21,000 1,296,500 1,275,500
O=4AHIOIE 1928 22| | 11,000
—SEA W 23+ 22 (HSoh LMY
s) 2,000,000 #22 4,000
—H2X W H==Y
3,500,000 22 7,000
O=dAHIOIE 1928 AIE2 RAIEs
10,000,000& » 14 10,000
=4, SO0I2XE &AL 4,015,500 0 4,015,500
Ea 115,500
CH 3,900,000
308 AtXIEMSOIE 100,000 0 100,000
CH 100,000
18 SIS0t oA AS A 100,000 0 100,000
O34, S0IXNE gAY
100,000,000 100,000
CH 100,000
401 Al HIZL 201 3,805,500 0 3,805,500




SM: QpEMY
M 07 RS 98 FEXL
=?el: 2042 dFII8xy (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 5,500
CH 3,800,000
01 Al&H| 3,795,500 0 3,795,500
O=4d, S0IQXE =45 AME RAES
500,0002* 115 5,500
O34, S0IXNE ZdAY
3,790,000,000& 3,790,000
CH 3,790,000
03 AIZ2THYI 10,000 0 10,000
O34, S0IXNE ZdAY
10,000,000 10,000
CH 10,000
405 KHaHF S| 110,000 110,000
01 ML ESFSHI 110,000 110,000
024, SOIRNE &R 2
110,000,000 * 14! 110,000
#HY2EIHI(FH2D) 40,109 47,049 6,940
Jl=3H| 40,109 47,049 26,940
Jl=23H] 40,109 47,049 26,940
01 eS| 28,289 27,689 600
01 At2teltl 25,349 24,749 600
O FA2HHI(LE=2H| S)
8,800,000& 8,800
ORN2E ZAHEAI| U=
330,000 * 122 3,960
oddlEs =58 R 50,000& * 122 600
Oge=d Zgy EY 2¢
295,000 %53 1,475
OgRF=d SAHEXN 7Y
23,0003 *702t A 1,610
SN 2R 8 55 S2s4t|
7,560,000 7,560
O3JIEEI| "Xl
56,000 =20~ 128 1,344
02 S3=gHl 2,940 2,940 0
OIAZAAHIA 23 120,000~ 128 1,440
OREE &35 2UR3(LESII)
2,000& 75021 1,500
202 04| 6,600 15,160 28,560
01 =LHAHI 6,600 15,160 A\8,560
ORI HHALEF Ol
6.,600,000& 6,600
203 =8| 5,220 4,200 1,020
04 PAE2EERFAH 5,220 4,200 1,020
ORAEE g4l 5,220,000 5,220






